
WARNING: OBSERVE SAFE FIREARM HANDLING PRACTICES AT ALL TIMES. 

FAILURE TO DO SO MAY RESULT IN SERIOUS BODILY INJURY OR DEATH. 

MAGPUL INDUSTRIES SHALL NOT BE RESPONSIBLE FOR INJURY, DEATH OR 

PROPERTY DAMAGE RESULTING FROM FAULTY INSTALLATION, MISUSE, 

ILLEGAL USE, OR MODIFICATION OF THIS PRODUCT. 

WARNING: BEFORE STARTING, MAKE SURE THE WEAPON IS UNLOADED, 

THE CHAMBER IS EMPTY, AND THE SAFETY ENGAGED.  

CAUTION: PLEASE READ ALL INSTRUCTIONS BEFORE PROCEEDING. COMPONENTS

UNDER SPRING PRESSURE MAY EJECT FORCEFULLY AND COULD CAUSE INJURY. 

INSTALLATION INSTRUCTIONS

SLING MOUNT KIT

TYPE 1 INSTALLATION INSTRUCTIONS

1 2 3 4

TYPE 2 INSTALLATION INSTRUCTIONS

1

STOCK BODY

INSTALLATION SCHEMATIC

TYPE 1 OR2

3

4
1

DENOTES ORIGINAL STOCK HARDWARE

TYPE 2

1

TYPE 3

1

2

TYPE 3 INSTALLATION INSTRUCTIONS

1 2

For the SGA Stock, gently remove the QD 

Plugs from both sides with small flat-head 

screwdriver. To install on the SGA Stock or 

front mounting point on the MOE Rifle Stock, 

line up the Type 1 QD Cup (1) on the desired 

side of use and insert the 10-24 x 1/2” 

Button Head Screw (3) through the QD Cup 

(1). Align the Nut (2) on the opposite side of 

the stock. Thread and tighten the screw into 

the Nut (2) with a 1/8” hex key, taking care 

not to overtighten. To install on the rear 

mounting point on the MOE Rifle Stock, use 

the 10-24 x 1” Button Head Screw (4).

CAUTION: DO NOT OVERTIGHTEN. 

Overtightening may result in unwanted 

damage to the QD mount or to the stock 

body itself.

Select the QD location to be made ambidex-

trous and loosen the 10-24 x 5/8” Button 

Head Screw. Remove the washer and/or nut 

opposite the existing QD cup and replace 

with the Type 2 QD Cup (1). Thread the 

original Button Head Screw into the QD Cup 

(1) and hand tighten using a 1/8” hex key, 

taking care not to overtighten.

CAUTION: DO NOT OVERTIGHTEN. 

Overtightening may result in unwanted 

damage to the QD mount or to the stock 

body itself.

Align the Type 3 QD Mount (1) on the desired 

side of    stock. Insert the provided 10-24 x 1” 

Button Head Screw (2) into the appropriate 

hole behind the release lever. Thread and 

tighten the 10-24 x 1” Button Head Screw (2) 

into the QD Mount (1) using a 1/8” hex key, 

taking care not to overtighten.

CAUTION: DO NOT OVERTIGHTEN. 

Overtightening may result in unwanted 

damage to the QD mount or to the stock 

body itself.


